CHESS   Sat 29 July 2006               David Ellis 9276 1822 / openfile@bigpond.com      1

WILHELM  STEINITZ  (Part V)

‘Steinitz was the first person to appreciate the inherent logic behind the game of chess’ – William Hartson (writer and twice British champion).

Steinitz made three successful defences of his world title, against Tchigorin in 1889 (+10, =5, -6), Isidor Gunsberg in 1890-1 (+6, -4, =9), and again against Tchigorin in 1892 (+10, =5, -8).  The brilliant Russian Mikhael Ivanovich Tchigorin (1850-1908) was a fundamental critic of Steinitz’ play and theories and Steinitz called their first struggle ‘a match between an old master of the young school (himself) and a young master of the old school (Tchigorin)’. Here is Tchigorin’s most famous finish:  Tchigorin, Black against Schiffers (St Petersburg 1897), having already given up queen for bishop, gives up two further pieces to gain mate in another 5 moves:
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Both of the Steinitz-Tchigorin matches were played in Havana and the Russian proved a worthy and dangerous opponent.  Perhaps the best known game is the following from the second match which demonstrates Steinitz’ theory that a flank attack can only be successful if the centre is closed or well controlled:

W. STEINITZ  -  M.  TCHIGORIN

World Championship, Game 4, Havana 1892

Ruy Lopez, Berlin Defence 

 1    e4  
e5  


 2    Nf3  
Nc6

 3    Bb5  
Nf6 


 4    d3 
d6



 5    c3  
g6


 6    Nbd2
Bg7



 7    Nf1 
0-0 


 8    Ba4 
Nd7(a)



 9    Ne3 
Nc5 


10   Bc2 
Ne6



11   h4!(b) 
Ne7(c)


12   h5 
d5



13   hxg 
fxg(d) 


14   exd!
Nxd5



15   Nxd5 
Qxd5 


16   Bb3 
Qc6



17   Qe2 
Bd7


18   Be3 
Kh8



19   0-0-0 
Rae8 


20   Qf1(e)
a5(f)



21   d4 
exd 


22   Nxd4
Bxd4(g)



23   Rxd4! 
Nxd4(h) 

24   Rxh7+! 
Kxh7



25   Qh1+ 
Kg7  


26   Bh6+ 
Kf6



27   Qh4+ 
Ke5 


28   Qxd4+ 
resigns(i)

a)  With White making no effort to gain the initiative in the opening, Black plans to attack with …f5.  To this end he manoeuvres this knight to e6 to hinder d4 by White.

b)  The absence of a knight on f6 encourages White to open the h file.

c)  If 11…f5 12 exf, gxf  13 d4! with advantage.  Instead Black plays for the thematic central thrust to counter White’s wing attack.

d)  A serious error.  Black probably expected to make use of the half-open f file, but the pressure on the h file and the a2-g8 diagonal proves too strong.

e)  Removing the queen from the line of the rook e8 in order to open the centre and subsequently exchange Black’s bishop g7. 

f)  An empty attacking gesture.  Setting up a more solid defence with …Rf5 and …Nf8 was better.

g)  Not 22…Nxd4  23 Rxh7+! Kxh7  24 Qh1+ mating.

h)  23,,,Re7 would prevent the coming sacrifice but White will double rooks on the h file.

i)  A fine example of the Steinitz theory of accumulating small advantages before attacking.

SOLUTION:  1…Rh1+!!  2 Nxh1, Bh2+!  3 Kxh2, Rh8+  4 Kg3 (4 Kg1,  Rh1#) 4…Nf5+  5 Kf4, 

Rh4#.

